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Ans. (c)
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Ans. (a)

Q.14 3<f 3R TN B! gfe | U FBIeRT Terd 8
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MK &7 AT Hdar |
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Ans. (d)
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Ans. (c)
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Ans. (b)

Q.17 ‘37139 &1 I e 8 &
(a) @t (b) Herg
(c) IIRgT<H  (d) &I

Ans. (c)

Q.18 ‘a8 (@fam) R S T80 fhar 8 — 39
eI & ol U vreg ©

BREISI (b) &t
OREINE! (d) TeTtHa
Ans. (c)
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(a) BIUGR — ¥&AT
(b) AT — FRIAE
(c) 3T — 3
(

d) IR — R

Ans. (c)
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(c) SMTEATICH®D (d) 3MI<IRD

Ans. (b)
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CRSISEE (b) ITATR
(c) PR (d) Tfosey

Ans. (c)
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(a) TRTEHA (b) AT
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Ans. (a)
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Q.23 f=foIRad vreai & X U H ST BT YANT 81

(a) BT (b) BT
(c) BBR (d) i
Ans. (b)
Q.24 f=feRad & 9 dF—1 fa9ior veg 272
(a) T (b) 3ire],
(c) eIef (d) dTef
Ans. (c)

Q.25 IifeiRad # | 9l & yaiHardl fea aif #
T8l 57
(a) a=RTON, ARTr
(o) =T, RN
(c) 3TUTT, afesi
CIRSIESCIMERIL]
Ans. (d)

Q.26 Match the items in List-l and List-1l and choose
correct answer from the given code :

List-I List-ll
A. Copper loss 1. n(B,, )" v
B. Eddycurrentloop 2. aN?
C. Hysteresis loss 3. PR
D. Windage loss 4. K(B,,,)? PvF
Code :
A B © D
@ 3 4 1 2
) 3 1 4 2
c 4 3 1 2
(d) 3 4 2 1
Ans. (a)

Q.27 The values of current i, and i, in the circuit figure
given below are :
2
-8A 4A

(@) 14 A, 10A (b) 14 A, 10 A
(c) 14 A, -10A d) 14 A, -10 A
Ans. (b)

Q.28 The inverse fourier transform of &(w) is
1
a) — b) 1
(@) o (b)

(c) &
Ans. (a)
Q.29 The worst type of load on a supply system is
(@) pumping load
(b) rolling mill load
(c) motors in a paper mill
(d) arc furnace load

Ans. (d)

Q.30 The Laplace transform of the wave form shown
below in the figure, is
fit)

10f---------7

Ans. (¥)

Q.31 Forthe symmetrical 2-port network given below
the transmission parameter 'A' is

30Q 30Q
10— MWW——MWW—o02
‘b
55109

1’0 02
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(@) ZQ (b) 1Q
(c) 4 Q (d) None of the above
Ans. (c)

Q.32 The most suitable motor for urban and sub-urban
services of electric traction is
(@) Three phases synchronous motor

(b) Separately excited DC motor

(c) Three phase induction motor

(d) DC series motor

Ans. (d)

Q.33 At slack bus, the combinations of variables
specified for load flow study is

@ Qv (b) V1, 8
© PRIV (CINAE
Ans. (b)

. . . L R )
Q.34 For a transmission line if C = G then incorrect
statement is
(@) The line is lossless

P22 ==
®) 25 G

(c) If a series of pulses are transmitted they
arrive undistorted
(d) The line is called distortionless line.

Ans. (a)

Q.35 Load flow study is carried out for
(@) Load frequency control

(b) Fault calculations

(c) System planning

(d) Stability studies

Ans. (c)

Q.36 In cylindrical co-ordinates the equation
19( aV) 19V
— p— +—2—2 = O If
pap\" dp) p° 99
a) Poisson's equation with no Z dependence
b) Laplace's equation with no Z dependance
@

Euler's equation with no Z dependence
d) None of the above

= =

(
(
(
(

=

Ans. (b)

Q.37 A50MVA, 11KV, 3-phase generator has a stored
energy of 400 MJ. Its inertia constant is
(@) 16 MVA/MJ (b) 4 MJ/MVA
(c) 2 MVA/MJ (d) 8 MJ/MVA

Ans. (d)

Q.38 Which of these is NOT valid at point p(0, 4, 0)?
(@) a,=-a, (b) a,=-a,
(c) a,= 4ay (d) a,=-a,

Ans. (c)

Q.39 Transmission lines are transposed to
(a) Reduce interference with neighbouring
communication lines
(b) Reduce Ferranti effect
(c) Reduce transmission loss
(d) Reduce skin effect

Ans. (a)

Q.40 Ohm's law in point form in field theory can be
expressed as

= p_l =
@ R=5 (b) V=Rl
(©) J=oF @ J=E
(¢}
Ans. (c)

Q.41 Ideally the voltage drop across a conducting
diode must be
(a) Equaltoforward biased voltage

(b) o

(c) Higher than the forward biased voltage

(d) O

Ans. (d)

Q.42 If the Nyquist plot cuts the negative real axis at
a distance of 0.8, then the gain margin of the

system is

(@) 1.25 (b) 0.8

() 2.25 (d) -0.8
Ans. (a)

Q.43 Turn-on time of a transistor used in switching
mode is
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a) Sum of rise time and fall time
b) Sum of delay time and rise time

(
(
(
(

c) Sum of delay time and storage time
d) Sum of rise time and storage time
Ans. (b)
Q.44 The transfer function of a low pass RC network
is
() —— (b) RCs(1+ RC)
(1+ RCs)
RC 1
©) G+Rcs) @ GrAcy)
Ans. (d)

Q.45 In an n-p-n CE configuration BJT, when V__ =10
V, R, = 16 kQ, R, = 6.2 kQ and B,, = 20, to
switch a BJT into saturation (on state), the
minimum input voltage will be

vV, =10V

(a) 2.55V
() 1.99V (d) 2.57V
Ans. (c)

Q.46 Match List-I with List-1l and select the correct
answer from the following options :

List-1

E=0

0<g&<1

E=1

E> 1

List-l

Roots are real and equal.

Roots are real and unequal.

Roots are complex conjugate.

Roots are purely imaginary.

OO0 w>»

H> N =

MADE EASY

Codes :

A B C D
(@) 1 4 3
(b) 4 8 1 2
c 2 3 4 A
(d) 4 1 3 2

Ans. (b)

Q.47 A Schmitt trigger converts slowly varying wave
forminto
(a) Square wave
(c) Triangular wave

(b) Sine wave
(d) Sawtooth wave

Ans. (a)

Q.48 The system matrix of a linear time invariant
continuous time system is given by

0o 1

A = [_4 _5] Roots of the characteristic
equation are
(@ O, -1 (b) -1, -4
(c) -4,-5 (d) -1,-5

Ans. (b)

Q.49 Zener diode is used as the main component in
dc power supply for
(a) Voltage regulation

(b) Rectification

(c) Conversion from AC to DC

(d) Filteration

Ans. (a)

Q.50 Applying Norton's theorem, the Norton's
equivalent circuit to the left of the terminals a
and b in the below circuit is having equivalent
current source (/,) and equivalent parallel
resistance (A,) as

4 Q 4 Q
AAAA A
WW WW oa

Q 4A

>8Q ——
-

24V€)

AAAA

o b
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&
~

L= 4A R,=30Q
= 4A R,=60Q
I,=9A R,=16Q
I,=5A R,=4Q

g
~

Ans. (d)

Q.51 Aninduction motor and synchronous motor are
connected to a common feeder line. To operate
the feeder line at unity power factor, the
synchronous motor should be
(a) Disconnected from common terminal

(b) Under excited

(c) Normal excited

(d) Over excited

Ans. (d)

Q.52 Kirchhoff's current and Kirchhoff's voltage laws
(KCL and KVL) apply to

a) Linear circuits only

b) DC circuits only

c) Both DC and AC circuits

d) AC circuits only

— o~ — —

Ans. (c)

Q.53 In case of a 100 kVA transformer with iron loss of
1 kW and full-load copper loss of 2 kW, the load
at which maximum efficiency occurs is

(@) 25.2 kVA (b) 100 kVA
(c) 50.5 kVA (d) 70.7 kVA
Ans. (d)
Q.54 Z-transform of x[n] = e ("*0y(n) is
@ — () —=
Z+ e(ﬁ) Z- e_(ﬁ)
Z
© —Fr @ —2—
Z+ e_(“_o) Z - e(ﬁ)
Ans. (b)

Q.55 A 10 kVA, 440 V/220 V, 50 Hz single phase
transformer gave the following test results
conducted on high voltage side :

Open circuittest: 440V, 1.0 A, 100 W
Short circuit test : 20V, 22.7 A, 130 W

The efficiency at 0.8 pf lagging is

(a) 97.2% (b) 96.2%
(c) 98.2% (d) 95.2%
Ans. (c)

Q.56 The terminal voltage and currents of a two-port
network are indicated in the figure below. If the
two-port network is reciprocal, then

I I
oO—— ————o0
Two-Port
Vv, Network v,
o—— —————o0

4 12

(@ AD-BC=0 (b) VoS 75 = 241172
12

1
(€) hy, =—hy, d) Z,=—
Yoo

Ans. (c)

Q.57 Given below are two statements, one is labelled
as Assertion (A) and other Reason (R) :
Assertion (A) : The short circuit ratio of a three
phase alternator should be high.

Reason (R) : A high value of SCR will decrease

the value of voltage regulation.

Select the correct answer using code given

below :

Code :

(@) (A)is false but (R) is true.

(b) Both (A) and (R) are true and (A) is correct
explanation of (R).

(c) (A)istrue but (R) is false.

(d) Both (A)and (R) are true but (A) is not correct
explanation of (R).

Ans. (b)

Q.58 For the network shown below, the transfer
admittance is

<IN
<)

10

02

<
-<
<
<

<

292

<

YYvy
AAAA
\AAAJ

1’0 02
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(@ 90 (b) 20
(c) 40 (d) 80
Ans. (c)
Q.59 The speed of a DC motor can be controlled by
changing
(a) armature resistance
b) its flux

(
(c) applied voltage
(d) all of the above

Ans. (d)

Q.60 The vector statement of Gauss's law is
(2) $Dda=fpaV
S Vv

(b) pDda=poav
% S

(©) [[Dda=[p*dv
S %

(d) [Dda=pav
% S

Ans. (a)

Q.61 Match List-I and List-1l and answer with code
given below :

List-I

High-Pass RC circuit

Low-Pass RC circuit

Clamping circuit

Clipping circuit

List-1l

Compensator

DC restorer

Integrator

Differentiator

. Compensated attenuator

Codes :

A

oreN= DO »

&

o
4 om0

&8 g
o

w A~ N~ w @

NN = = O

AAAA
N

Ans. (a)

Q.62 The frequency of the power wave, associated
with an electromagnetic wave, having a field as
1 Z
E=g¢? cos(mt—gj , is given by

[0} o
@ o © &x

0} o
(c) ; (d) E

Ans. (a)

Q.63 Three resistances each of R ohm are connected
in delta, its equivalent star will comprise three
resistances each of values

R

(a) EQ (b) 3R Q
(©) ggz d) 2R Q
Ans. (c)

Q.64 A DC shunt generator supplies a load of 7.5 kW
at 200 V. The armature resistance is 0.6 Q and
field resistance is 80 ohms. The generated emf

is

(a) 202V (b) 224V

(c) 1235V (d) 448V
Ans. (b)

Q.65 The ratio of charge stored by two metallic spheres
is raised to the same potential is 6. The ratio of
the surface areas of the sphere is

’
(a) NG (b) 6

’
(c) 36 (d) s

Ans. (c)

Q.66 The voltage reflection coefficient of a short
circuited line is
(@ O
(c) 0.5

(o) 1
(d) 1

Ans. (b)
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Q.67 When a lossy capacitor with a dielectric of
permittivity € and conductivity o operates at a
frequency o, the loss tangent for the capacitor is

given by
(8) —— (b) =
w e E
w e
(c) owe (d) o
Ans. (a)

Q.68 The condition for reciprocity for a two-port
transmission network is expressed by

A B A B
@ 1c p| =1 (b)‘c p|=°
A C A D
© |5 D‘zo (d)‘B c‘=

Ans. (a)

Q.69 When a two winding transformer is connected
as an auto transformer, its efficiency at full load
(@) Increases by 50%

(b) Decreases

(c) Remains same

(d)

d) Increases

Ans. (d)

Q.70 The forbidden energy gap in silicon at 300° K is
(@) 1.41eV (b) 0.72eV
(c) 1.1eV (d) 0.785eV

Ans. (c)

Q.71 A complex current wave is given by :
i=5+5 sin 100 ttampere. Its average value is

(@ 5A (b) 10 A
) 5 A (d) 0 A
Ans. (a)

Q.72 The total reactance and total susceptance of a
lossless overhead EHV line, operating at 50 Hz,
are given by 0.045 p.u. and 1.2 p.u. respectively.
If the velocity of wave propagation is 3 x 10°
km/s, then the approximation length of the line
is

(@) 272 km (b) 122 km
(c) 222 km (d) 172 km
Ans. (c)
Q.73 If L[f(t)]=22(s—+1), then (0*) and f(e) are

S$+2s+5
given by

(€)) %,O respectively

(b) 0, 2 respectively
(c) 0O, 1 respectively
(d) 2, 0respectively

Ans. (d)

Q.74 Which one of the following effects in the system
is NOT caused by negative feedback?
(@) Reduction in outputimpedance

(b) Reductionin gain

(c) Increase in distortion

(d) Increase in bandwidth

Ans. (c)

Q.75 The 6V zener diode shown in the figure has zero
zener resistance and a knee current of 5 mA.
The minimum value of R, so that the voltage
across it does not fall below 6V, is

50
Av‘v‘v‘v
10VT N §§R
6V
(a) Zero (b) 1.2 kQ
(c) 50 Q (d) 80 Q
Ans. (d)

Q.76 The transfer function of the system shown below
is

R i@

2]
[
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Ans.

Q.77

Ans.

Q.78

Ans.

Q.79

@ GG, GG,
1+ GG, + H, 1+ GG, + GG,H,;
GG GG
(©) _ M2 (d) M2
1+ H,G,G, 1+ GG, + GiH,
(b)
A transformer is rated at 11 kV/0.4 kV, 500 kVA,

5% reactance. The short circuit MVA of the
transformer when connected to an infinite bus is

(@) 1 MVA (b) 10 MVA
(c) 100 MVA (d) None of the above
(b)

In the general form of first cauver network, if pole
at infinitely then first element be

(a) ashuntcapacitor

(b) aseries inductor

(c) aseries capacitor

(d) ashuntinductor

~ ~—

= —

(b)

Polar plot of transfer function is Q(jo) =
1t
jo(1+ joT,)

(C) W= =0 R

Ans.

Q.80

Ans.

Q.81

Ans.

Q.82

W=o0

=0

(b)

The leakage resistance of a 50 km long cable is
1 MQ. For a 100 km long cable it will be

(a) 4 MQ (b) 0.5 MQ

(c) 2 MQ (d) 1 MQ

(b)

Match the following and choose correct alternative
from List-l and List-II.
List-I

(Time function)

List-lI
(Laplace transform)
’

A1 il =
s
;
B t 2. S_2
. s
C. sinwt 3.
(8% + ®?)
w
D. coswt 4.
(s? + w?)
Codes :
A B C D
@ 2 1 4 3
)y 1 2 3 4
© 1 2 4 3
(d)y 2 1 g 4
(c)

Transfer function for a unity-feedback system
having root locus shown below in figure :

Jjo

-6 \-5 -4 -3 -2/ -1 =
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Als+2) Als+5)
@ Grien P Grs+2)
Als+1) A
© sros+8 9 SsrEeD)

Ans. (b)

Q.83 The unique model of a system is
(a) Transfer function (b) Signal flow graphs
(c) Statevariables (d) Block diagrams

Ans. (a)

Q.84 Calculate the sag for a span of 200 m if the
ultimate tensile strength of conductor is 6000 kgf.
Allow a factor of safety of 2.
(@ 2.5m (b) 1.0m
() 20m (d)y 1.5m

Ans. (d)

Q.85 A unity feedback system has a forward path
10(1+ 4s)

transfer function G(s) = —;
s“(1+s

. If the system

2
is subjected to an input r(t) = 1+t+%, the

steady state error of the system will be

(@) oo (b) zero
(c) 10 (d) 0.1
Ans. (d)

Q.86 A field Fis said to be conservative if

(@) VF=00 (b) VxF=0
(c) VVF=0 (d) None of the above
Ans. (b)

Q.87 Ifthe excitation of a 3-phase alternator, operating
on infinite bus bars, is changed, which one of
the following shall alter?

(@) Frequency of machine

(b) Active power of machine

(c) Terminal voltage of machine

(d) Reactive power of machine

Ans. (d)

Q.88 An op-amp has a common mode gain of 0.01
and a differential gain of 10°. Its CMRR would

be

(@) 107 (b) 10”7

(c) 10° (d) 108
Ans. (a)

Q.89 The impedance of a parallel RLC network is

5s
s® +0.5s+100

are respectively

(8) = , the value of R, L and C

(a) 2g,lH,%F (b) 10Q —-H, LF

20 20 "5
© 100 HIF @ 19 H'F
20 2 2 5

Ans. (b)

Q.90 A pair of high frequency parallel transmission
lines has distributed capacitance and inductance
of 1 yF and 10 mH respectively. Characteristic
impedance of the line is

(@) 100 Q (b) 98.26 Q
) 110Q (d) 125 Q
Ans. (a)

Q.91 Natural frequency of oscillation for a second order
system is 10 rad/sec and its damping ratio is
0.1 The 2% settling time is

(a) 4.5sec (b) 4.0sec
(c) 0.4sec (d) 10sec
Ans. (b)

Q.92 Two 550 kVA alternators operates in parallel to
supply following loads :
(i) 250 kW at 0.95 p.f. lagging
(i) 100 kW at 0.85 p.f. leading
If one machine is supplying 200 kW at 0.9 p.f.
lagging, then p.f. of other machine will be
(a) 0.89lagging (b) 0.89leading
(c) 0.95lagging (d) 0.95leading

Ans. (b)
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Q.93 The root locus of the open loop transfer function

_ k(s+3) .
G(s)H(s) = S5+2) is
(@) Hyperbola (b) Circle
(c) Ellipse (d) Parabola
Ans. (b)

Q.94 If E = 0 at all points on a closed surface, then
correct statements are
1. The electric flux through all points of the
surface is zero.
2. The total charge enclosed by the surface is

zero.
3. Charge resides on the surface.
(@ 1,2and 3 (b) 1and 2 only

(c) 2and 3only (d) 1and 3 only

Ans. (b)

Q.95 Coronais
(@) Unequal distribution of currents
(b) Partial breakdown of air
(c) Sparking between lines
(d) Complete breakdown of air

Ans. (d)

Q.96 The negative feedback in an amplifier leads to
(a) Decrease in band width

(b) Increase in current gain

(c) Increasein voltage gain

(d)

d) Decrease in voltage gain
Ans. (d)
Q.97 Consider the system represented in state variable
form
x=Ax+Bu
y=Cx+Du
O 1 O 0
where A= 10 0 1|, B= |0}, C=
-k -k -k 1
[1 O O], D=[0]. The values of k for a stable
system are
(@) Allvalues of k (b) k< 1
(c) k> 1 (d) k=1

Ans. (c)

Q.98 Awave guide can be considered to be analogous
toa
(a
(b
(c
(d

=

band stop filter
low pass filter

band pass filter
high pass filter

= = O

Ans. (d)

Q.99 Output voltage of the circuit given below is

2kQ 5 kQ 5 kQ
_5 V o A'A'A'A' AVAVAVAV o ‘V‘V‘V‘V Vo
10 kQ
VO
(@) 35V (b) 40.5V
(c) 425V (d) 125V
Ans. (c)

Q.100 An industrial consumer has a daily load pattern
of 2000 kW, 0.8 lagging power factor for 12 hours
and 1000 kW at UPF for 12 hours. The load factor

IS

(@) 1.00 (b) 0.65

(c) 0.75 (d) 0.875
Ans. (c)

Q.101 The unit step response of a system is
[1-¢e'(1+ H]U1). The systemis
(a) Oscillatory (b) Unstable
(c) Critically stable (d) Stable

Ans. (c)

Q.102 An 8-pole, 3-phase, 50 Hz induction motor is
operating at 720 rpm. The frequency of rotor

currentis

(a) 1Hz (b) 2Hz

(c) 3Hz (d) 4 Hz
Ans. (b)
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Q.103 For an electric field £ = £, sin ot. The phase
difference between the conduction current and
displacement current is

(a) 180° (b) 45°
(c) o (d) @
Ans. (c)

Q.104 A two-port device is defined by the following
pair of equations :
iy =2vi+ v,andi, = v, + V,

Ilts impedance parameters (Z,,, Z,5, 251, Zop)
are

(@ (2,-1,-1,1)
() (1,1,1,2)

Ans. (d)

() (2,1, 1, 1)
(d) (1,-1,-1,2)

Q.105 Reactance relay is normally preferred for
protection against
(a) Phase fault

(b) Earth fault

(c) Open circuit fault

(d) None of these

Ans. (b)

Q.106 Electromagnetic wave travelling in high loss
medium at frequency f, has attained wavelength
A, when frequency become 4 times,
corresponding wavelength will be

A
(a) 4A, (b) 71
A
(©) 2, @ 3
Ans. (b)

Q.107 An amplifier of gain 'A' is bridged by
capacitance C as shown in below circuit, then
the effective input capacitance is

Vi o—%_o :

(@) C(1-A) zb) CIA
(c) C(1 +A) (d) AC

Ans. (c)

Q.108 For an N-channel JFET I oo = 12mA, V_ =-7V,
Vog=-3.5V. The value of I, is

(@) 18 mA (b) 2mA
(c) 3mA (d) 6 mA
Ans. (c)

Q.109 A system has a characteristic equation s* +
282 + (K + 1)s + 6 = 0. The range of K for a
stable system will be
(@ K<2 b) 1<K<?2
() 05<K<1b5 (d)K>2

Ans. (d)

Q.110 If the fault takes place between phase b and
phase c¢, choose the incorrect statement for
boundary condition for given figure :

oa
= b
oc
(@) Ip = 3Ic (b) I, =0
© V,=V, (@) I, +1,=0
Ans. (a)

Q.111 Given a badly underdamped control system,
the type of cascade compensator to be used
to improve its damping is
(@) notch filter (b) phase-lead
(c) phase-lead-lag (d) phase-lag

Ans. (b)

Q.112 Transformer rating is given in kVA because total
loss of the transformer depends on
(a) Currentonly
(b) Voltage only
(c) Phase angle between voltage and current
(d) Both (a) and (b)

Ans. (d)
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Q. 113 Bulk power transmission over a long HVDC lines
are preferred on account of
(a) No Harmonic problems

(b) Low cost of HVDC terminal

(c) Minimum line power losses

(d) Simple protection

Ans. (b)

Q.114 The waveform shown below is a halfwave
rectified sine wave. The average power
dissipated in a 10 Q resistor is

V(t)
10 +
0 L 2n 3n t
(@) 25W (b) 25 W
(c) 0.25 W (d) 250 W
Ans. (a)

Q.115 The forward resistance of the diode shown in
circuit below is 5 Q and the other parameters
are same as those of an ideal diode. What is
dc component of source current?

D>
Vsinwt
© = 314 rad/sec <~) S50
2V, Vin
— b
@ Som ©) Son2
Vi Vin
= d
©) Son D T oonvz

Ans. (c)

Q.116 In free space, if p = 0, the Poisson's equation
becomes
(a) Laplacian equation V2V = 0.
(b) Maxwell's convergence equation V.B=0.
(c) Kirchhoff's voltage equation 2V = 0.
(d)

d) None of the above

Ans. (a)

Q.117 An op-amp based circuit is shown in figure
below. Current 1, is

V.

S

AAAA
VVV
By
2

AAAA
VVVy
Py

Ans. (c)

- -1 2
Q.118 The system X = AX+BU with A = [ }

0 2
B o
=1q]s

a) Stable but uncontrollable

b) Stable and controllable

c) Unstable and uncontrollable
d) Unstable but controllable

o~ o~ o~ o~
= — = =

Ans. (d)

Q.119 IGBT and BJT both possess
(a) High Input Impedance
(b) Low on-state power losses
(c) Low switching losses
(d) High on-state power losses

Ans. (d)

Q.120 The pole-zero shown below represents a

Jjo

a
b
c
d

Lag-lead compensating network
PID controller

PD controller

None of the above

(
(
(
(

= = =

Ans. (a)
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Q.121 Which of the following points locate the
quiescent points?
@) (o Vep)
(©) Ug Vep)

Ans. (a)

(0) (e Vg
(d) (g Vee)

Q.122 A Hartley oscillator is used for generating
(a) Audio frequency oscillations

(b) Very low frequency oscillations

(c) Microwave oscillations

(d) Radio frequency oscillations

Ans. (d)

Q.123 A generating station has a maximum demand
of 30 MW, its load factor is 60% and plant
capacity factor is 50%. The reserve capacity of

the plant is
(@) 6 MW (b) 10 MW
(c) 5 MW (d) 4 MW

Ans. (a)

Q.124 The rated voltage of 3-phase power system is
given as
(a) peak line to line voltage
(b) rms phase voltage
(c) rms line to line voltage
(d) peak phase voltage

Ans. (c)

Q.125 A10kVA, 400 V/200 V single-phase transformer
with 10% impedance draws a steady short circuit

current of
(a) 350 A (b) 50 A
(c) 250 A (d) 150 A
Ans. (c)
EEEN






